

Mathematical Advances in Pure and Applied Sciences, 2019 Received: May 10, 2019 Accepted: June 12, 2019 Published online: July 23, 2019 **ISSN : 2636-8021** Vol.2, No.1, 19-24 doi: will be added

## Direct Estimate of Accumulated Errors for a General Iteration Method

Faik Gürsoy \*1, Kadri Doğan<sup>†2</sup>, Abdul Rahim Khan<sup>‡2</sup>

<sup>1</sup>Department of Mathematics, Adiyaman University, Adiyaman 02040, Turkey <sup>2</sup>Department of Computer Engineering, Artvin Coruh University, 08000, Artvin, Turkey <sup>2</sup>Department of Mathematics and Statistics, King Fahd University of Petroleum and Minerals, Dhahran 31261, Saudi Arabia

## Keywords

SP iteration method, SP iteration method with mixed errors, Iterative parameter sequence, Error analysis, Random errors. **Abstract:** We study error analysis for an SP iteration mehod with mixed errors defined by Chugh and Kumar in [Convergence of SP iterative scheme with mixed errors for accretive Lipschitzian and strongly accretive Lipschitzian operators in Banach spaces, Int. J. Comput. Math. 90 (2013), pp. 1865-1880]; in particular, controllability and accumulation of errors for such an iteration method are investigated.

Throughout this paper, we suppose that  $(X, \|\cdot\|)$  is an arbitrary real Banach space, *S* a nonempty closed and convex subset of *X*, *T* : *S*  $\rightarrow$  *S* an operator, and  $\{\alpha_n\}_{n=0}^{\infty}, \{\beta_n\}_{n=0}^{\infty}, \{\gamma_n\}_{n=0}^{\infty} \subseteq [0, 1]$  are parameter sequences satisfying certain control condition(s).

In 2011, Phuengrattana and Suantai [1] defined the SP iteration method on S as follows:

$$\begin{cases} x_0 \in S, \\ x_{n+1} = (1 - \alpha_n) y_n + \alpha_n T y_n \\ y_n = (1 - \beta_n) z_n + \beta_n T z_n \\ z_n = (1 - \gamma_n) x_n + \gamma_n T x_n, \text{ for all } n \in \mathbb{N}. \end{cases}$$

$$(1)$$

*Remark* 0.1. The iteration method (1) reduces to: (i) Mann iteration method [3] if  $\beta_n = \gamma_n = 0$  for all  $n \in \mathbb{N}$ ; (ii) Picard iteration method [2] if  $\alpha_n = 1$ ,  $\beta_n = \gamma_n = 0$  for all  $n \in \mathbb{N}$ . However, the iteration method (1) is independent of Ishikawa [4] and Noor [5] iteration methods.

Recently, Chugh and Kumar [6] introduced the SP iteration method with mixed errors as

$$\begin{cases} x_0 \in S, \\ x_{n+1} = (1 - \alpha_n) y_n + \alpha_n T y_n + u_n \\ y_n = (1 - \beta_n) z_n + \beta_n T z_n + v_n \\ z_n = (1 - \gamma_n) x_n + \gamma_n T x_n + w_n, \text{ for all } n \in \mathbb{N}, \end{cases}$$

$$(2)$$

where  $\{u_n\}_{n=0}^{\infty}$ ,  $\{v_n\}_{n=0}^{\infty}$  and  $\{w_n\}_{n=0}^{\infty}$  are sequences in *S* satisfying the following conditions: (i)  $u_n = u'_n + u''_n$ ,  $||u'_n|| = o(\alpha_n)$   $(n \ge 0)$  and  $\sum_{n=0}^{\infty} ||u''_n|| < \infty$ , (ii)  $\sum_{n=0}^{\infty} ||v_n|| < \infty$ ,  $\sum_{n=0}^{\infty} ||w_n|| < \infty$ .

*Remark* 0.2. The iteration method (2) reduces to:

(i) Mann iteration method [3] if  $\beta_n = \gamma_n = w_n = v_n = u_n = 0$  for all  $n \in \mathbb{N}$ ;

(ii) Picard iteration method [2] if  $\alpha_n = 1$ ,  $\beta_n = \gamma_n = w_n = v_n = u_n = 0$  for all  $n \in \mathbb{N}$ ; (iii) SP iteration method (1) if  $w_n = v_n = u_n = 0$  for all  $n \in \mathbb{N}$ .

However, the iteration method (2) is independent of Ishikawa [4] and Noor [5] iteration methods.

<sup>\*</sup>faikgursoy02@hotmail.com

<sup>&</sup>lt;sup>†</sup>dogankadri@hotmail.com

<sup>&</sup>lt;sup>‡</sup>arahim@kfupm.edu.sa

We are primarily interested in evaluating the error estimate for the SP iteration method (1) of an operator on a real Banach space. Many researchers have achieved this in an indirect way. As regards, their direct calculations (estimation), recently some papers have appeared in the literature (see, e.g., [7, 8]). In this paper, we develop new ideas for the direct error estimation of the SP iteration(1) in respect of accumulation and control of random errors. It is remarked that direct calculations of errors for this method are much more complicated as compared to those in the case of Mann and Ishikawa iteration methods (cf. [7, 8]).

Define the errors of  $Tx_n$ ,  $Ty_n$  and  $Tz_n$  by

$$w_n = Tx_n - \overline{Tx_n}, v_n = Tz_n - \overline{Tz_n} \text{ and } u_n = Ty_n - \overline{Ty_n}$$
(3)

for all  $n \in \mathbb{N}$ , where  $\overline{Tx_n}$ ,  $\overline{Ty_n}$  and  $\overline{Tz_n}$  are the exact values of  $Tx_n$ ,  $Ty_n$  and  $Tz_n$ , respectively, that is,  $Tx_n$ ,  $Ty_n$  and  $Tz_n$  are approximate values of  $\overline{Tx_n}$ ,  $\overline{Ty_n}$  and  $\overline{Tz_n}$ , respectively. The theory of errors implies that  $\{u_n\}_{n=0}^{\infty}$ ,  $\{v_n\}_{n=0}^{\infty}$  and  $\{w_n\}_{n=0}^{\infty}$  are bounded. Set

$$B = \max\left\{B_u, B_v, B_w\right\} \tag{4}$$

where  $B_w = \sup_{n \in \mathbb{N}} ||w_n||$ ,  $B_v = \sup_{n \in \mathbb{N}} ||v_n||$  and  $B_u = \sup_{n \in \mathbb{N}} ||u_n||$  are the bounds on the absolute errors of  $\{Tx_n\}_{n=0}^{\infty}$ ,  $\{Tz_n\}_{n=0}^{\infty}$  and  $\{Ty_n\}_{n=0}^{\infty}$ , respectively.

The accumulated errors in (1) comes from  $u_n$ ,  $v_n$  and  $w_n$ ; hence we can set

$$\begin{cases} \overline{x_0} \in S, \\ \overline{x_{n+1}} = (1 - \alpha_n) \overline{y_n} + \alpha_n \overline{Ty_n} \\ \overline{y_n} = (1 - \beta_n) \overline{z_n} + \beta_n \overline{Tz_n} \\ \overline{z_n} = (1 - \gamma_n) \overline{x_n} + \gamma_n \overline{Tx_n}, \text{ for all } n \in \mathbb{N}. \end{cases}$$
(5)

where  $\overline{x_n}$ ,  $\overline{y_n}$  and  $\overline{z_n}$  are exact values of  $x_n$ ,  $y_n$  and  $z_n$ , respectively. Obviously, error of an iteration will affect the next (n+1) steps. So, utilizing (1), (3) and (5), we have

$$\begin{split} x_0 &= \overline{x_0}; \\ x_1 &= \overline{x_1} + (1 - \alpha_0) \left[ (1 - \beta_0) \gamma_0 w_0 + \beta_0 v_0 \right] + \alpha_0 u_0; \\ x_2 &= \overline{x_2} + (1 - \alpha_1) (1 - \beta_1) (1 - \gamma_1) \left[ (1 - \alpha_0) \left[ (1 - \beta_0) \gamma_0 w_0 + \beta_0 v_0 \right] + \alpha_0 u_0 \right] \\ &+ (1 - \alpha_1) \left[ (1 - \beta_1) \gamma_1 w_1 + \beta_1 v_1 \right] + \alpha_1 u_1; \\ x_3 &= \overline{x_3} + (1 - \alpha_2) (1 - \beta_2) (1 - \gamma_2) (1 - \alpha_1) (1 - \beta_1) (1 - \gamma_1) \left[ (1 - \alpha_0) \left[ (1 - \beta_0) \gamma_0 w_0 + \beta_0 v_0 \right] + \alpha_0 u_0 \right] \\ &+ (1 - \alpha_2) (1 - \beta_2) (1 - \gamma_2) \left[ (1 - \alpha_1) \left[ (1 - \beta_1) \gamma_1 w_1 + \beta_1 v_1 \right] + \alpha_1 u_1 \right] \\ &+ (1 - \alpha_2) \left[ (1 - \beta_2) \gamma_2 w_2 + \beta_2 v_2 \right] + \alpha_2 u_2; \end{split}$$

$$y_0 = \overline{y_0} + (1 - \beta_0) \gamma_0 w_0 + \beta_0 v_0;$$

$$y_1 = \overline{y_1} + (1 - \beta_1) \gamma_1 w_1 + \beta_1 v_1 + (1 - \beta_1) (1 - \gamma_1) [(1 - \alpha_0) [(1 - \beta_0) \gamma_0 w_0 + \beta_0 v_0] + \alpha_0 u_0];$$

$$y_{2} = \overline{y_{2}} + (1 - \beta_{2}) \gamma_{2} w_{2} + \beta_{2} v_{2} + (1 - \beta_{2}) (1 - \gamma_{2}) [(1 - \alpha_{1}) (1 - \beta_{1}) (1 - \gamma_{1}) [(1 - \alpha_{0}) [(1 - \beta_{0}) \gamma_{0} w_{0} + \beta_{0} v_{0}] + \alpha_{0} u_{0}] + (1 - \alpha_{1}) [(1 - \beta_{1}) \gamma_{1} w_{1} + \beta_{1} v_{1}] + \alpha_{1} u_{1}];$$

$$\begin{array}{lll} y_3 &=& \overline{y_3} + (1 - \beta_3) \, \gamma_3 w_3 + \beta_3 v_3 + (1 - \beta_3) \, (1 - \gamma_3) \times \\ && \left[ (1 - \alpha_2) \, (1 - \beta_2) \, (1 - \gamma_2) \, (1 - \alpha_1) \, (1 - \beta_1) \, (1 - \gamma_1) \, [(1 - \alpha_0) \, [(1 - \beta_0) \, \gamma_0 w_0 + \beta_0 v_0] + \alpha_0 u_0] \right. \\ && \left. + (1 - \alpha_2) \, (1 - \beta_2) \, (1 - \gamma_2) \, [(1 - \alpha_1) \, [(1 - \beta_1) \, \gamma_1 w_1 + \beta_1 v_1] + \alpha_1 u_1] \right. \\ && \left. + (1 - \alpha_2) \, [(1 - \beta_2) \, \gamma_2 w_2 + \beta_2 v_2] + \alpha_2 u_2]; \end{array}$$

 $z_0 = \overline{z_0} + \gamma_0 w_0;$ 

$$z_1 = \overline{z_1} + \gamma_1 w_1 + (1 - \gamma_1) \left[ (1 - \alpha_0) \left[ (1 - \beta_0) \gamma_0 w_0 + \beta_0 v_0 \right] + \alpha_0 u_0 \right];$$

$$z_{2} = \overline{z_{2}} + \gamma_{2}w_{2} + (1 - \gamma_{2}) \left[ (1 - \alpha_{1}) (1 - \beta_{1}) (1 - \gamma_{1}) \left[ (1 - \alpha_{0}) \left[ (1 - \beta_{0}) \gamma_{0}w_{0} + \beta_{0}v_{0} \right] + \alpha_{0}u_{0} \right] \\ + (1 - \alpha_{1}) \left[ (1 - \beta_{1}) \gamma_{1}w_{1} + \beta_{1}v_{1} \right] + \alpha_{1}u_{1} \right];$$

$$z_{3} = \overline{z_{3}} + \gamma_{3}w_{3} + (1 - \gamma_{3}) \times \\ [(1 - \alpha_{2})(1 - \beta_{2})(1 - \gamma_{2})(1 - \alpha_{1})(1 - \beta_{1})(1 - \gamma_{1})[(1 - \alpha_{0})[(1 - \beta_{0})\gamma_{0}w_{0} + \beta_{0}v_{0}] + \alpha_{0}u_{0}] \\ + (1 - \alpha_{2})(1 - \beta_{2})(1 - \gamma_{2})[(1 - \alpha_{1})[(1 - \beta_{1})\gamma_{1}w_{1} + \beta_{1}v_{1}] + \alpha_{1}u_{1}] \\ + (1 - \alpha_{2})[(1 - \beta_{2})\gamma_{2}w_{2} + \beta_{2}v_{2}] + \alpha_{2}u_{2}];$$

A repetition of the above arguments, gives:

$$\begin{aligned} x_{n+1} &= \overline{x_{n+1}} + \sum_{k=0}^{n} \left[ (1 - \alpha_k) \left[ (1 - \beta_k) \, \gamma_k w_k + \beta_k v_k \right] + \alpha_k u_k \right] \left[ \prod_{i=k+1}^{n} (1 - \alpha_i) \, (1 - \beta_i) \, (1 - \gamma_i) \right] \\ y_n &= \overline{y_n} + (1 - \beta_n) \, \gamma_n w_n + \beta_n v_n + (1 - \beta_n) \, (1 - \gamma_n) \times \\ \sum_{k=0}^{n-1} \left[ (1 - \alpha_k) \left[ (1 - \beta_k) \, \gamma_k w_k + \beta_k v_k \right] + \alpha_k u_k \right] \left[ \prod_{i=k+1}^{n-1} (1 - \alpha_i) \, (1 - \beta_i) \, (1 - \gamma_i) \right] \\ &= (1 - \beta_n) \, \gamma_n w_n + \beta_n v_n + (1 - \beta_n) \, (1 - \gamma_n) \, (x_n - \overline{x_n}), \end{aligned}$$

and

$$z_n = \overline{z_n} + \gamma_n w_n + (1 - \gamma_n) \times \sum_{k=0}^{n-1} \left[ (1 - \alpha_k) \left[ (1 - \beta_k) \gamma_k w_k + \beta_k v_k \right] + \alpha_k u_k \right] \left[ \prod_{i=k+1}^{n-1} (1 - \alpha_i) (1 - \beta_i) (1 - \gamma_i) \right]$$
  
=  $\gamma_n w_n + (1 - \gamma_n) (x_n - \overline{x_n})$  for all  $n \in \mathbb{N}$ .

Define

$$E_n^{(1)} := x_{n+1} - \overline{x_{n+1}} = \sum_{k=0}^n \left[ (1 - \alpha_k) \left[ (1 - \beta_k) \, \gamma_k w_k + \beta_k v_k \right] + \alpha_k u_k \right] \left[ \prod_{i=k+1}^n (1 - \alpha_i) \, (1 - \beta_i) \, (1 - \gamma_i) \right], \tag{6}$$

$$E_n^{(2)} := y_n - \overline{y_n} = (1 - \beta_n) \, \gamma_n w_n + \beta_n v_n + (1 - \beta_n) \, (1 - \gamma_n) \, E_{n-1}^{(1)}, \tag{7}$$

and

$$E_n^{(3)} := z_n - \overline{z_n} = \gamma_n w_n + (1 - \gamma_n) E_{n-1}^{(1)} \text{ for all } n \in \mathbb{N}.$$
(8)

We note that the errors of the iteration method, after (n+1) times iterations, are added up to  $E_n^{(1)}$ ,  $E_n^{(2)}$  and  $E_n^{(3)}$ . Now, we are in a position to give the following result.

**Theorem 0.3.** Let *S*, *T*, *B*,  $E_n^{(1)}$ ,  $E_n^{(2)}$  and  $E_n^{(3)}$  be as above. (*i*) If  $\sum_{i=0}^{\infty} \alpha_i = +\infty$  (or  $\sum_{i=0}^{\infty} \beta_i = +\infty$ , or  $\sum_{i=0}^{\infty} \gamma_i = +\infty$ ), then the accumulation of errors in (1) is bounded and does not exceed the number *B*; (*ii*) If  $\sum_{i=0}^{\infty} [(1 - \alpha_i) [(1 - \beta_i) \gamma_i + \beta_i] + \alpha_i] < +\infty$ ,  $\lim_{n\to\infty} \beta_n = 0$  and  $\lim_{n\to\infty} \gamma_n = 0$ , then random errors of (1) are controllable.

*Proof.* (i) It is well known that  $\sum_{i=0}^{\infty} \alpha_i = +\infty$  implies  $\prod_{i=0}^{\infty} (1 - \alpha_i) = 0$  (see, e.g., (Remark 2.1 of [9])). From (4), (6)-(8) we have

$$\begin{split} \left\| E_{n}^{(1)} \right\| &= \left\| \left[ (1 - \alpha_{0}) \left[ (1 - \beta_{0}) \gamma_{0} w_{0} + \beta_{0} v_{0} \right] + \alpha_{0} u_{0} \right] \prod_{i=1}^{n} (1 - \alpha_{i}) (1 - \beta_{i}) (1 - \gamma_{i}) \\ &+ \left[ (1 - \alpha_{1}) \left[ (1 - \beta_{1}) \gamma_{1} w_{1} + \beta_{1} v_{1} \right] + \alpha_{1} u_{1} \right] \prod_{i=2}^{n} (1 - \alpha_{i}) (1 - \beta_{i}) (1 - \gamma_{i}) \\ &+ \dots + (1 - \alpha_{n}) \left[ (1 - \beta_{n}) \gamma_{n} w_{n} + \beta_{n} v_{n} \right] + \alpha_{n} u_{n} \right\| \\ &\leq \left\| \left[ (1 - \alpha_{0}) \left[ (1 - \beta_{0}) \gamma_{0} w_{0} + \beta_{0} v_{0} \right] + \alpha_{0} u_{0} \right] \prod_{i=1}^{n} (1 - \alpha_{i}) (1 - \beta_{i}) (1 - \gamma_{i}) \right\| \\ &+ \left\| \left[ (1 - \alpha_{1}) \left[ (1 - \beta_{1}) \gamma_{1} w_{1} + \beta_{1} v_{1} \right] + \alpha_{1} u_{1} \right] \prod_{i=2}^{n} (1 - \alpha_{i}) (1 - \beta_{i}) (1 - \gamma_{i}) \right\| \\ &+ \dots + \left\| (1 - \alpha_{n}) \left[ (1 - \beta_{n}) \gamma_{n} w_{n} + \beta_{n} v_{n} \right] + \alpha_{n} u_{n} \right\| \\ &\leq \left[ (1 - \alpha_{0}) \left[ (1 - \beta_{0}) \gamma_{0} \| w_{0} \| + \beta_{0} \| v_{0} \| \right] + \alpha_{0} \| u_{0} \| \right] \prod_{i=1}^{n} (1 - \alpha_{i}) (1 - \beta_{i}) (1 - \gamma_{i}) \\ &+ \left[ (1 - \alpha_{1}) \left[ (1 - \beta_{1}) \gamma_{1} \| w_{1} \| + \beta_{1} \| v_{1} \| \right] + \alpha_{1} \| u_{1} \| \right] \prod_{i=2}^{n} (1 - \alpha_{i}) (1 - \beta_{i}) (1 - \gamma_{i}) \\ &+ \dots + (1 - \alpha_{n}) \left[ (1 - \beta_{n}) \gamma_{n} \| w_{n} \| + \beta_{n} \| v_{n} \| \right] + \alpha_{n} \| u_{n} \| , \end{split}$$

which implies

$$\begin{split} \left\| E_{n}^{(1)} \right\| &\leq B \left\{ \prod_{i=0}^{n} \left( 1 - \alpha_{i} \right) \left( 1 - \beta_{i} \right) \left( 1 - \gamma_{i} \right) \\ &+ \left[ \left( 1 - \alpha_{0} \right) \left[ \left( 1 - \beta_{0} \right) \gamma_{0} + \beta_{0} \right] + \alpha_{0} \right] \prod_{i=1}^{n} \left( 1 - \alpha_{i} \right) \left( 1 - \beta_{i} \right) \left( 1 - \gamma_{i} \right) \\ &+ \left[ \left( 1 - \alpha_{1} \right) \left[ \left( 1 - \beta_{1} \right) \gamma_{1} + \beta_{1} \right] + \alpha_{1} \right] \prod_{i=2}^{n} \left( 1 - \alpha_{i} \right) \left( 1 - \beta_{i} \right) \left( 1 - \gamma_{i} \right) \\ &+ \dots + \left[ \left( 1 - \alpha_{n} \right) \left[ \left( 1 - \beta_{n} \right) \gamma_{n} + \beta_{n} \right] + \alpha_{n} \right] \\ &- \prod_{i=0}^{n} \left( 1 - \alpha_{i} \right) \left( 1 - \beta_{i} \right) \left( 1 - \gamma_{i} \right) \right\} \\ &= B \left[ 1 - \prod_{i=0}^{n} \left( 1 - \alpha_{i} \right) \left( 1 - \beta_{i} \right) \left( 1 - \gamma_{i} \right) \right] \\ &= B \left[ 1 - \prod_{i=0}^{n} \left( 1 - \alpha_{i} \right) \prod_{i=0}^{n} \left( 1 - \beta_{i} \right) \prod_{i=0}^{n} \left( 1 - \gamma_{i} \right) \right] \\ &\leq B \left[ 1 - \prod_{i=0}^{\infty} \left( 1 - \alpha_{i} \right) \prod_{i=0}^{\infty} \left( 1 - \beta_{i} \right) \prod_{i=0}^{\infty} \left( 1 - \gamma_{i} \right) \right] = B, \end{split}$$
(9)

$$\begin{aligned} \left\| E_{n}^{(2)} \right\| &= \left\| (1 - \beta_{n}) \gamma_{n} w_{n} + \beta_{n} v_{n} + (1 - \beta_{n}) (1 - \gamma_{n}) E_{n-1}^{(1)} \right\| \\ &\leq (1 - \beta_{n}) \gamma_{n} \left\| w_{n} \right\| + \beta_{n} \left\| v_{n} \right\| + (1 - \beta_{n}) (1 - \gamma_{n}) \left\| E_{n-1}^{(1)} \right\| \\ &\leq B \left[ (1 - \beta_{n}) \gamma_{n} + \beta_{n} + (1 - \beta_{n}) (1 - \gamma_{n}) \right] = B, \end{aligned}$$
(10)

and

$$\begin{aligned} \left| E_n^{(3)} \right\| &= \left\| \gamma_n w_n + (1 - \gamma_n) E_{n-1}^{(1)} \right\| \\ &\leq \gamma_n \left\| w_n \right\| + (1 - \gamma_n) \left\| E_{n-1}^{(1)} \right\| \\ &\leq \gamma_n B + (1 - \gamma_n) B = B \text{ for all } n \in \mathbb{N}. \end{aligned}$$

$$\tag{11}$$

Hence, we have  $\max_{n \in \mathbb{N}} \left\{ \left\| E_n^{(1)} \right\|, \left\| E_n^{(2)} \right\|, \left\| E_n^{(3)} \right\| \right\} \le B.$ (ii) Indeed,  $\sum_{i=0}^{\infty} \left[ (1 - \alpha_i) \left[ (1 - \beta_i) \gamma_i + \beta_i \right] + \alpha_i \right] < +\infty$  implies that

$$\prod_{i=0}^{\infty} (1 - [(1 - \alpha_i) [(1 - \beta_i) \gamma_i + \beta_i] + \alpha_i]) = \prod_{i=0}^{\infty} (1 - \alpha_i) (1 - \beta_i) (1 - \gamma_i) \in (0, 1).$$

Let  $1 - \prod_{i=0}^{\infty} (1 - \alpha_i) (1 - \beta_i) (1 - \gamma_i) = \ell \in (0, 1)$ . Thus, from (9), we obtain

$$\left\|E_{n}^{(1)}\right\| \leq B\left[1 - \prod_{i=0}^{\infty} \left(1 - \alpha_{i}\right) \left(1 - \beta_{i}\right) \left(1 - \gamma_{i}\right)\right] \leq \ell B \text{ for all } n \in \mathbb{N}.$$
(12)

On the other hand, the conditions  $\lim_{n\to\infty} \beta_n = 0$  and  $\lim_{n\to\infty} \gamma_n = 0$  imply that  $\lim_{n\to\infty} (\gamma_n + \beta_n - \beta_n \gamma_n) = 0$  which implies the existence of an  $n_0 \in \mathbb{N}$  such that for all  $n \ge n_0$  we have  $\gamma_n + \beta_n - \beta_n \gamma_n \le \ell/(1-\ell)$ . Using this fact together with (10) and (12), we get

$$\begin{aligned} \left| E_n^{(2)} \right| &\leq B\left[ (1 - \beta_n) \gamma_n + \beta_n + (1 - \beta_n) (1 - \gamma_n) \ell \right] \\ &= B\left[ \ell + (\gamma_n + \beta_n - \beta_n \gamma_n) (1 - \ell) \right] \\ &\leq B\left[ \ell + \frac{\ell}{1 - \ell} (1 - \ell) \right] = 2B\ell, \end{aligned}$$
(13)

Similarly, the condition  $\lim_{n\to\infty} \gamma_n = 0$  implies the existence of an  $n_0 \in \mathbb{N}$  such that for all  $n \ge n_0$  we have  $\gamma_n \le \ell/(1-\ell)$ . Hence, from (11) and (12), we have

$$\begin{aligned} \left| E_n^{(3)} \right\| &\leq \gamma_n \left\| w_n \right\| + (1 - \gamma_n) \left\| E_{n-1}^{(1)} \right\| \\ &\leq \gamma_n B \left( 1 - \ell \right) + B\ell \\ &\leq \frac{\ell}{1 - \ell} B \left( 1 - \ell \right) + B\ell = 2B\ell \text{ for all } n \geq n_0. \end{aligned}$$

$$(14)$$

Thus, we conclude that  $\|E_n^{(1)}\|$ ,  $\|E_n^{(2)}\|$  and  $\|E_n^{(3)}\|$  can be controlled for suitable choice of the parameter sequences  $\{\alpha_n\}_{n=0}^{\infty}, \{\beta_n\}_{n=0}^{\infty}$  and  $\{\gamma_n\}_{n=0}^{\infty}$  for all  $n \ge n_0$ .  $\Box$ *Example* 0.4. Let  $\alpha_n = \frac{1}{n^5+100}, \beta_n = \frac{1}{2n^4+500}, \gamma_n = \frac{1}{(n^2+300)^8}$  for all  $n \in \mathbb{N}$ . Then, by the comparison test, the series  $\sum_{i=0}^{\infty} [(1-\alpha_i)[(1-\beta_i)\gamma_i+\beta_i]+\alpha_i]$  converges and the Wolfram Mathematica 9 software package implies that

$$\sum_{i=0}^{\infty} \left[ (1 - \alpha_i) \left[ (1 - \beta_i) \gamma_i + \beta_i \right] + \alpha_i \right] \approx 0.0416295 < +\infty$$

and

$$\ell = 1 - \prod_{i=0}^{\infty} (1 - \alpha_i) (1 - \beta_i) (1 - \gamma_i) \approx 0.040967 \in (0, 1)$$

Hence, it follows from (12)-(14) that  $\left\|E_n^{(1)}\right\| \le 0.040967 \times B$ ,  $\left\|E_n^{(2)}\right\| \le 0.081934 \times B$  and  $\left\|E_n^{(3)}\right\| \le 0.081934 \times B$  for all  $n \in \mathbb{N}$ . Especially, for any  $s \in (0, 1)$ , if  $(1 - \alpha)^{\lfloor (1 - \beta) \alpha + \beta \rfloor} + \alpha = \frac{1}{1 - 1} + \frac{1}{2} + \frac{$ 

Especially, for any  $\varepsilon \in (0,1)$ , if  $(1 - \alpha_n) [(1 - \beta_n) \gamma_n + \beta_n] + \alpha_n = \frac{1}{2(2017^n + 2017^{-n})} \varepsilon$  for all  $n \in \mathbb{N}$ , then

$$\prod_{i=0}^{\infty} (1-\alpha_i) (1-\beta_i) (1-\gamma_i)$$

$$= \prod_{i=0}^{\infty} (1-[(1-\alpha_i)](1-\beta_i) \gamma_i + \beta_i] + \alpha_i])$$

$$\geq 1-\sum_{i=0}^{\infty} [(1-\alpha_i)](1-\beta_i) \gamma_i + \beta_i] + \alpha_i] \approx 1-0.250248 \times \varepsilon,$$

which yields  $\ell < 0.250248 \times \varepsilon$ , so that

$$\left\|E_n^{(1)}\right\| \le 0.250248 \times \varepsilon \times B \text{ for all } n \in \mathbb{N},$$

and

$$\left\| E_n^{(2)} \right\| \le 0.500496 \times \varepsilon \times B \text{ for all } n \ge n_0,$$
$$\left\| E_n^{(3)} \right\| \le 0.500496 \times \varepsilon \times B \text{ for all } n \ge n_0,$$

where  $n_0$  belong to  $\mathbb{N}$  and the inequalities  $\beta_n \leq \frac{\varepsilon}{3.99604-\varepsilon}$  and  $\gamma_n \leq \frac{\varepsilon}{3.99604-\varepsilon}$  hold. Hence, the random errors is controllable in a permissible range for suitable choice of the parameter sequences  $\{\alpha_n\}_{n=0}^{\infty}, \{\beta_n\}_{n=0}^{\infty}$  and  $\{\gamma_n\}_{n=0}^{\infty}$  for all  $n \geq n_0$ .

Acknowledgements: The author A. R. Khan was supported by the Deanship of Scientic Research (DSR) at KFUPM, Grant No. IN141047.

## References

- [1] W. Phuengrattana and S. Suantai, On the rate of convergence of Mann, Ishikawa, Noor and SP iterations for continuous functions on an arbitrary interval, J. Comput. Appl. Math., 2011 (235): 3006-3014.
- [2] E. Picard, Mémoire sur la théorie des équations aux dérivées partielles et la méthode des approximations successives, J. Math. Pure. Appl., 1890 (6): 145-210.
- [3] W. R. Mann, Mean value methods in iteration, Proc. Amer. Math. Soc., 1953 (4):506-510.

- [4] S. Ishikawa, Fixed points by a new iteration method, Proc. Amer. Math. Soc., 1974 (44): 147-150.
- [5] M. A. Noor, *New approximation schemes for general variational inequalities*, J. Math. Anal. Appl., 2000 (**251**): 217-229.
- [6] R. Chugh and V. Kumar, *Convergence of SP iterative scheme with mixed errors for accretive Lipschitzian and strongly accretive Lipschitzian operators in Banach spaces*, Int. J. Comput. Math., 2013 (**90**): 1865-1880.
- [7] Y. Xu and Z. Liu, On estimation and control of errors of the Mann iteration process, J. Math. Anal. Appl., 2003 (286):804-806.
- [8] Y. Xu, Z. Liu and S. M. Kang, Accumulation and control of random errors in the Ishikawa iterative process in arbitrary Banach space, Comput. Math. Appl., 2011 (61): 2217-2220.
- [9] S. M. Şoltuz and T. Grosan, *Data dependence for Ishikawa iteration when dealing with contractive-like operators*, Fixed Point Theory A, 2008 (2008): 1-7.